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Numbers




Colors

o0

Red Black White

Blue Green  Yellow

Light Blue Purple  Orange

Pink Grey  Brouwn




Sizes

Long 5

Longer -

Short < -

Shorter



Shapes

Circle  Rectangle Square

4

A

Triangle Star  Rhombus

Cylinder  Cube Oval




The four seasons

Autumn w Summer

Winter



Continents

Europe Africa Asia
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el

North
America

Australia South America

Antarctica



Days of the week

Saturday

Sunday
Monday

Tuesday

Wednesday
Thursday

Friday
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1x0=0
1x1=1
1x 2=2
1x3=3
1x4=4
1x5=5
1x6=6
1x7=7
1x8=8
1x9=9
1x10=10
1x11=11
1x12=12

6

6x0=0
6x1=6

6x2=12
6 x3=18
6 x 4= 24
6 x 5= 30
6 x 6= 36
6 x7=42
6 x 8= 48
6 x 9= 54
6 x10= 60
6 x11= 66
6 x12=72

Multiplication tables

2 3 4 5

2 x0=0
2x1=2
2x2=4
2x3=6
2x4=8
2x5=10
2 x6=12
2x7=14
2x8=16
2x9=18
2 x10=20
2 x11=22
2x 12=24

7x0=0
7x1=7
7x2=14
7x3=21
7x4=28
7x5=35
7x6=42
7x7=49
7x8=56
7x9=63
7x10=70
7x11=77
7x12=84

3x0=0
3x1=3
3x2=6
3x3=9
3x4=12
3x5=15
3x6=18
3x7=21
3 x 8= 24
3 x9 =27
3x10=30
3x11 =33
3x12= 36

8x0=0
8x1=8
8x2=16
8x3=24
8x4=32
8x5=40
8x6=48
8x7=56
8 x8=64
8x9=72
8 x10=380
8x11=388

8x12=96

4%0=0

4x 1=4

4x 2=8

4 x 3212
4x 4= 16
4x 5= 20
4 x 6= 24
4x7=28
4 x 8= 32
4x 9= 36
4 x 10= 40
4x 11= 44
4x12= 48

5x0=0
5x1=5
5x2=10
5x3=15
5 x 4=20
5x 5= 25
5x6=30
5x7=35
5x 8 =40
5x9=45
5x10=50
5x11=55

9

9x0=0
9x1=9
9x2=18
9x3=27
9x4=36
9x5=45
9 x6=54
9x7=63
9x8=72
9x9=281

9 x10 =90
9 x11 =99
9x12=108

5x12=60

10x0=0
10x1=10
10x2=20
10x3 =30
10 x 4 =40
10x5=50
10 x 6 = 60
10x7=70
10x8 =80
10x9 =90
10 x 10 =100
10x11=111
10x12 =120
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0+1=1
1+1=2
2+1=3
3+1=4
4+1=5
5+1=6
6+1=7
7+1=8
8+1=09
9+1=10
10 + 1=11

6

0+6=6
1+6=7
2+6=8
3+6=9
4+6=10
5+6=11
6 +6=12
7+6=13
8+6=14
9+6=15
10 + 6 =16

Addition tables

2 3 4

0+2=2
1+2=3
2+2=4
3+2=5
4+2=6
5+2=7
6+2=28
7+2=9
8 +2=10
9 +2=11
10 +2=12

0+7=7

1+7=8

2+7=9

3+7=10
4+ 7=11
5+7=12
6+7=13
7+7=14
8+7=15
9+7=16
10 + 7 =17

0+3=3

1+3=4
2+3=5
3+3=6

4+3=7

5+3=8
6 +3=9
7+3=10
8+3=11
9+3=12
10 + 3=13

0+8=8
1+8=9
2 +8=10
3+8=11
4+8=12
5+8=13
6 + 8 =14
7+8=15
8 +8=16
9+8=17
10+ 8=18

0+4=4
1+4=5
2+4=6
3+4=7
4+4=8
5+4=9
6+4=10
7+4=11
8+4=12
9+4=13
10+4=14
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0+9=9

1+9=10
2+9=1
3+9=12
4+9=13
5+ 9 =14
6 +9 =15
7+9=16
8+9=17
9+9=18
10+9=19

0+5=5
1+5=6
2+5=7
3+5=8
4+5=9
5+5=10
6 +5=11
7+5=12
8+5=13
9 +5=14
10 + 5=15

0+10=10
1+10=11
2+10=12
3+10=13
4 +10 =14
5+ 10=15
6 +10=16
7+10=17
8 +10 =18
9 +10=19
10 +10=20



